TABELA ROBOT ZIEMNYCH

“

powierzchnia powierzchnia Srednia ) objetosé zuzycie nadmiar objetosci suma algebraic
kilometr (hektometr] wykop+ | nasyp - | wykop+ | nasyp- eliee wykop + | nasyp - BMM_.ME wykop + | nasyp - &)
m"2 m*2 m m*3 m*3 m*3 m*3
0 0,00 2,65 0,42 2,29 0,485 30,63 70 15 15 55
30,63 1,93 0,55 1,69 0,715 41,47 70 30 30 40 55
72,10 1,45 0,88 2,135 0,67 54,39 116 36 36 80 96
126,49 2,82 0,46 2,99 0,335 38,37 115 13 13 102 175
164,86 3,16 0,21 3,04 0,21 80,42 244 17 17 228 277
245,28 2,92 0,21 2,965 0,185 21,69 64 4 4 60 505
266,97 3,01 0,16 3,41 0,125 34,97 119 4 4 115 565
301,94 3,81 0,09 2,8 0,485 34,96 98 17 17 81 680
336,90 1,79 0,88 2,275 0,655 50,52 115 33 a3 82 761
387,42 2,76 043 suma= 843
RAZEM= 1012 169 169 843 0




